do
dsqrt{d

3 [Pb,GeV]
2

N
o
N

=
o

8000 GeV pp

Splitting scale\/al(n <m <111 GeV)

ATLAS

Z (Drell-Yan

Rivet 3.1.10, = 3.2M events

---=-- Pythia 6.428 359
—4A— Pythia 6.428 370

Pythia 6.428 a
---¥-- Pythia 6.428 dw
—o— Pythia 6.428 p0
----- x-- Pythia 6.428 pro-g20

Ratio to ATLAS

=
<
N
| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

T T T T TTTTITTTIF

[EEY

0.5 -

IIII|IIII|IIII_.LIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| [ 111

10°
sgrt{d_1} [GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


